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‘They’; but not in their changed state — T R l'm

OVERVIEW

997 N2 maintain that if a 717 was given o°vn for her 130X and she ground it into
flour, that flour can be brought as a 7imin 127p. They derive it from the a7°1w 109
that only the original 710X is MOKX but not if it is in a changed state. The X713 equates
this ruling of 7"2 to the ruling of mmp "rw.” It would therefore seem that; a) that
112 MW is derived from the P109 of 01w, and b) that all would agree with 7"2 that
MY 1s A1P. Our MPOOIN raises some issues with both of these assumptions.

mooIn asks (on assumption ‘a’):
= NIPINN NIPN NP MNPYWT N9 7Y XPa) 3‘[1):0:1‘1 N

It is astounding! For shortly 729 derives the rule that ‘change’ acquires the
stolen item for the thief, from another verse; not from oW X7 o7°1w, but rather he

derives it -
- 909 YW Y Y1) U “asnaT

For it is written ‘that which he stole’ indicating that he should return the item

which is similar to the item he stole, but he is not required to return the item if it changed
and is not similar to the item he stole. Why does not 127 derive this rule from '07°w" as 7"2 do?!’

mooin asks a different question (on assumption ‘b’):
= DIPN DN D TUN YINTTT NP PN NPT 6‘1)3Ni7 NTON 297 DYP TV

And there is an additional difficulty, for 7'' maintains that "2 is not 7p,
for he derives that the words 913 2w indicate that he must return the item in any

event; whether or not there was a "> in the item; similarly -

= 11752 NINN NINYNN NDIN 1991 924 13012 229 9INP (2,79 NP HINNI)
And in X»p 9137 P70 where a7 '3 states that according to 7m0 law a stolen
object that changed in the possession of 1713 is to be returned as is,

notwithstanding that it changed, it still belongs to the owner and not to the 7213, for 1P WX MW,
and he derives it -

! Others amend this to read or.

2 anp 1w means that the thief acquires the object he stole through the change, and is not required to return the
object to the owner (since the thief now owns it), but must rather pay for the value of the item he stole.

I R,0.

# 33,7 X791 The 100 reads 213 WK 79°137 DR WM.

> See “Thinking it over # 1.

b x,10.

75" however agrees that D°aws NIpN *107, the NINw»i 7271 need not be returned 7°ya.
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- 950 AN Y9 33 DIPN Y313 NYIHN NN DY 2NN
Since it is written and he shall return the theft in any event; does this mean that
n"7 and "7 argue with 77''3 who maintain here that "W is 717p?!

MooIN answers:
- 5155925 91NN WA 399N PIPIT PNYY 139290 NI

And it seems to the '3 that later in the ruling of "7 we are discussing a change

that can be reverted to its original status -

- 7)3M1% 5294 7919 NP HNHAN WA 311 S9NN)
And indeed on such a case (only) of a 17 MW does the X773 in the beginning
of Xn»p 91377 P cite the ruling of »''9; meaning that >"1 1" who maintain that 11X "W
nnp it is only by a 11127 NMA 1°Ww; however by a MM WKW MW they agree with 7"2 that "w
11p. This answers the second question. 73mM° "1 X701 27 will both maintain that only by Xw¥ o°vn
N0 (which is a 1°°12% Nn WKW M1°w) do the 7" maintain that 72 "MW, but not by a nnn "W
N>>25.

mMooIn now answers the first question:
= 93 9123 1599925 AMHNN MY 1DPANT 920 TINDAT NAMN

However 129, who is mentioned shortly, maintains that even a =117 nw

1N9m2% is also 3 for the thief -
- 1IN PRY $9WA 199 190D MY RIP 10 NIN IND INT 1OIND 991 99594

And that is why two 22102 are necessary to teach us that 7np "1°w, for if there
were only one 209 that teaches us 7132 M1 we would have established that 109

by a 97177 R MW; however by a M7 "W we would maintain that it is not 719 (as 71"
*"71 maintain), therefore 7127 cites an additional 105 to teach us that "11°w is always 7112 even if it
is a ™72 nnn .

mooIn anticipates a difficulty:
- (a8 1y POINY SN PNNNN 939D Y10 1aa9 snont M

And why is it that 7129 brings proof to his ruling (that »11°w is 712) from the

¥ The change can be undone, and the item can be restored to its original status.

? The X3 there in Xnp Y1an states clearly that the ruling of 1377 "3 that a PINwaw 72°1 is 71¥2 NN is only by a "W
™12 N

19 The two o°p100 are om71w 03 (that 1"2 cites) and the 213 WK P09 (which 7127 cites).

' 727 supports his contention that 7np @ (even by a 1122 A 1w [according to MooIN]) from a A1wn in 137
o°x¥y [and a mwn in 1910 (which will be shortly discussed)].

12 The mwn states 7131 Nywd 05wn 0732 IRWYY ¥ 290 [Rww 2%y 10, The mawn indeed indicates that anp »w
(since he is only required to pay for the item he stole but he is not required to return the changed item); however the
cases it mentions seem to be cases of a 777 1XYW M1w. The utensils cannot be reverted to the original unfinished
wood and the garments cannot be converted to raw wool.
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mawn in 293P 91an? Seemingly the Aawn in 028y Hna is discussing a Mn wRw Mrw?'

moon replies:
= 1195925 AN MV 19NT DIYN

Because on the contrary that 71wn is discussing a 103925 2107 MW -
- %510 1Y) DI9WUN DINYA (owy 1PPID YA BNN DY ST

As the X713 there in the beginning of that P9 establishes the 71wn in cases where
the thief stole finished wood and spun wool, where it is a 2% “nn7 1w and

nevertheless the 7Iwn maintains that he is not required to return the stolen object, he is only
required to pay for the value of the object he stole. This proves that even a Wm7 "0 is mnp."

mMooIN anticipates a similar difficulty:
- Yyyasy 1915 1999 92900 N9 oM

And that 71wn which states; that if he did not manage to give the 175 the nwX"

127 until after he dyed it, the rule is that is not required to give it to the 373 since the PR7w>
acquired it through the "W of Ay°2x. The mwn is cited by 727 as proof that "W is 71p.
Seemingly this is surely a case of a 11 XY "1w! Why does 7127 cite it as a proof that even a
NN Y is ap?!

mooIn replies:
- 18]158 19 DY 1953919 DI19%Y AINN 2IPWA 123 Y99INRT Na9Y INI)

It would seem that 1739 maintains that the 7iwn is also discussing a "W of

dyeing that is 911, for it is possible to remove the dye through applying 5%

which removes dye.
= (ow) NN YW MINTD

As the X n3 states in the beginning of 11377 25 that dye can be removed through 9z,

MooIN continues to ask:
= TN 1INRY MIPWA 99991 1IN 22957 99 by 9N

" If 121 just wanted to prove that a 91 KXW "W is AN he would not have brought an additional 7109 and he could
have cited the ruling of 7"2 as his support.

" 1f he stole finished wood and made (for instance) a closet from the wood he can dismantle the closet and return
the original wood as it was. The same is true if he stole spun wool, he can undo the garment and return the spun
wool as it was originally when he stole it. It is only if he stole unfinished (rough) wood and he sanded it down and
smoothed it that it will be a 77117 11°Rw MW (and the same with unspun (raw) wool).

!> However »" i maintain that it need not be returned on account of 0*aws nipn. See footnote # 7.

' This is referring to the second 7wn which 7127 cites as proof that 71p 1w,

'7 A person is required to give (a certain amount of) his first shearing (11 n°wX") of his lambs to the 172. If he dyed
them before giving them to the 773, he is exempt from giving them afterwards.

'8 10 is a certain type of soap that can remove the dye from garments.
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And even though that according to >'' the 7I1wn concerning 37 NWRXI is

discussing a case of =717 1KY W -
- 715 93y 897 )9ON NYPa NY SPIM

And °"7 establishes the 71wn of 127 N*WXA in a case where he dyed the wool with

1998 X9p, which is a dye that cannot be removed (by 115%). How can 727 use this mawn
as a proof that 1w is 7P even by a I1n7 MW, since perhaps this 71wn is discussing (according
to °"7) a NN RY Ww?

mooIn responds:
SNDYID 19399 709 291D (92Y NDT) 1IN NIPA NTMIYNY PNYT IV NN DAy

It appeared to 7727 that it is a ‘forced’ interpretation to establish the 71wn only in
a case of 12°K X»p (which cannot be removed), but rather the miwn is discussing all
types of dyes, even those that can be removed, and therefore 727 brought a proof
from that 71wn to his ruling that 7117 "1°w even by a 11>12% nna 0w,

SUMMARY

All agree (including 13m1° " X707 27) that XN*92% N0 WKW "W is 1P, However
127 adds that even a 711 M1°w is also 3P because there are two 2°p100 (27w of 71'2
and 91 WX which 727 adds). Both n°awn which 1721 cites as proof are discussing a
aMTT .

THINKING IT OVER

1. mooin asked why is it necessary to have two 2°109 that 1w is 11p.° Does
mooIn mean that the Poo of 827 (913 TWR) is sufficient or that the oo of 1"a
(0m1w) is sufficient [or that either one is sufficient]?*'

2. According to 7127 who maintains that even a “m17 "11°w is AP, why did 7"2 give
their ruling by n?10 Xwy o°vn (which is a M7 KXY Mw), they should have given
their ruling even by a nm "w?1*

19 y9°x X9p is a dye which is similar in appearance to N9n.
0 See footnote # 5.

I See 1.

** See n"m1.
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